                                         Global Warming
     The carbon cycle makes earth unique among all other objects which have been observed in the solar system and indeed the entire universe thus far. Respiration of humans and animals use 02 as they produce waste C02.  Plant photosynthesis on the other hand, uses C02  as they produce waste 02. The equation for photosynthesis shows that carbon used by plant life is balanced by animal use of oxygen:  

                                   6(C02) + 6(H20) + sunlight = 6(02) + C6H1206.

      Carbon can be released into the atmosphere by exhalation of humans and animals, burning or decaying plant and animal life, natural gas emissions, oil combustion or by release of methane hydrates due to ice pack melting. As the concentration of carbon increases, so does a plant’s ability to produce oxygen with its size increases. In temperate climates, grasses quickly replace burned, cut or dead trees; and in tropical climates, fast vertical growing vines, bamboos, ferns etc. quickly fill in the holes created in the leaf canopy. Clear cutting of large areas certainly has a local effect, but as the concentration of C02 increases, so do 02 concentrations. 
     Natural gas, coal and oil are products of rapid burial of plants & animals in the presence of water, high heat and high pressure. The lightest of the hydro-carbons, natural gas is mostly methane (CH4) which is continuously released from the earth by volcanic eruption, or just naturally released from underground pockets. Oxidation of methane produces water and carbon di-oxide, and occurs by burning or naturally in atmospheric oxygen within 10 years. Therefore it cannot be considered as a “Greenhouse Gas”. Example: If methane remained in the atmosphere for long periods, the earth would quickly smell like a compost pile and be prone to spontaneous ignition which would burn the entire atmosphere in a ball of fire.
      Greenhouses work by allowing solar radiation to enter while reflecting back longer wavelength thermal energy, and cloud cover formed by C02  and water can contribute to a similar phenomenon as well. In the photosynthesis equation, water vapor increases from increased evaporation, results in increases in plant size and oxygen production. If clouds cover enough of the earth’s surface and become thick enough to reflect the Sun’s radiation back into space, the phenomenon we call “Global Warming” may actually turn into “Global Cooling”. Warming increases evaporation, which increases cloud cover as it rises far enough to freeze, forming high clouds. Low clouds and fog form when the saturation point (100% humidity) is reached. Cloud cover reflects solar radiation away from earth. As a result, ice packs would increase in size, reflecting more radiation and lowering the temperature further. Fortunately, this threat too is self corrected because as temperatures drop, the amount of evaporation decreases, and likewise, the amount of cloud cover.

      Are humans causing Global Warming? The answer is clearly no. If the earth had only plants, life could not exist from lack of carbon. If the earth had only humans and animals, their life could not exist from lack of oxygen. They both had to have been created at the same time for either one to begin, and excesses in either one, is quickly self corrected. Is An Inconvenient Truth really just An Inconvenient Lie?       
